

30. *Fourier Series. XV. Gibbs' Phenomenon*

By Kazuo ISHIGURO

Department of Mathematics, Hokkaidô University, Sapporo, Japan

(Comm. by Z. SUETUNA, M.J.A., March 12, 1957)

1. Concerning Gibbs' phenomenon of the Fourier series H. Cramér [1] proved the following theorem.

Theorem 1. *There exists a number r_0 , $0 < r_0 < 1$, with the following property: If $f(x)$ is simply discontinuous at a point ξ , the (C, r) means $\sigma_n^r(x)$ of the Fourier series of $f(x)$ present Gibbs' phenomenon at ξ for $r < r_0$, but not for $r \geq r_0$.*

On the other hand S. Izumi and M. Satô [2] proved the following theorems:

Theorem 2. *Suppose that $f(x) = a\psi(x - \xi) + g(x)$, where $\psi(x)$ is a periodic function with period 2π such that $\psi(x) = (\pi - x)/2$ ($0 < x < 2\pi$), and where*

$$(1) \quad \begin{aligned} \limsup_{x \downarrow \xi} g(x) &= 0, & \liminf_{x \uparrow \xi} g(x) &= 0, \\ \liminf_{x \downarrow \xi} g(x) &\geq -a\pi, & \limsup_{x \uparrow \xi} g(x) &\leq a\pi, \\ \int_0^x |g(\xi + u)| du &= o(|x|), \end{aligned}$$

then Gibbs' phenomenon of the Fourier series of $f(x)$ appears at $x = \xi$.

Theorem 3. *In Theorem 2, if we replace the condition (1) by the following conditions:*

$$\int_0^x g(\xi + u) du = o(|x|),$$

and

$$\int_0^x \{g(t+u) - g(t-u)\} du = o(|x|)$$

uniformly for all t in a neighbourhood of ξ , then Gibbs' phenomenon of the Fourier series of $f(x)$ appears at $x = \xi$.

We proved that Theorem 1 holds even when the point ξ is the discontinuity point of the second kind, satisfying the condition in Theorem 2 [3]. More precisely,

Theorem 4. *Suppose that*

$$f(x) = a\psi(x - \xi) + g(x)$$

where $\psi(x)$ is a periodic function with period 2π such that

$$\psi(x) = (\pi - x)/2 \quad (0 < x < 2\pi)$$

and where

$$\begin{aligned} \limsup_{x \downarrow \xi} g(x) &= 0, & \liminf_{x \uparrow \xi} g(x) &= 0, \\ \liminf_{x \downarrow \xi} g(x) &\geq -a\pi, & \limsup_{x \uparrow \xi} g(x) &\leq a\pi, \end{aligned}$$

$$\int_0^x |g(\xi + u)| du = o(|x|).$$

Then there exists a number r_0 , $0 < r_0 < 1$ with the following property: The (C, r) means of the Fourier series of $f(x)$ present Gibbs' phenomenon at ξ for $r < r_0$, but not for $r \geq r_0$, r_0 being the Cramér number in Theorem 1.

We shall extend Theorem 4 replacing the assumptions by those of Theorem 3. More precisely

Theorem 5. Suppose that $f(x) = a\psi(x - \xi) + g(x)$, where $\psi(x)$ is a periodic function with period 2π such that $\psi(x) = (\pi - x)/2$ ($0 < x < 2\pi$), and where

$$\begin{aligned} \limsup_{x \downarrow \xi} g(x) &= \liminf_{x \uparrow \xi} g(x) = 0 \\ \liminf_{x \downarrow \xi} g(x) &\geq -a\pi, \quad \limsup_{x \uparrow \xi} g(x) \leq a\pi \end{aligned} \tag{2}$$

$$\int_0^x g(\xi + u) du = o(|x|),$$

and

$$\int_0^x \{g(t + u) - g(t - u)\} du = o(|x|), \tag{3}$$

uniformly for all t in a neighbourhood of ξ . Then there exists a number r_0 , $0 < r_0 < 1$, with the following property: The (C, r) means of the Fourier series of $f(x)$ present Gibbs' phenomenon at ξ for $r < r_0$, but not for $r \geq r_0$, r_0 being the Cramér number in Theorem 1.

2. Proof of Theorem 5. Without loss of generality, we can suppose that $\xi = 0$ and $a = 1$. We have

$$\sigma_n^r(x, f) = \sigma_n^r(x, \psi) + \sigma_n^r(x, g).$$

By Theorem 1 $\sigma_n^r(\pi/n, \psi)$ tends to a constant which is greater than $\pi/2$ if $r < r_0$, but not greater than $\pi/2$ if $r \geq r_0$. Since $\sigma_n^r(k\pi/n, \psi)$ is near to $\pi/2$ for sufficiently large k , if $r < r_0$, there is a k such that

(4) $\frac{1}{2} \{ \sigma_n^r(\pi/n, \psi) + \sigma_n^r(k\pi/n, \psi) \}$ tends to a constant, greater than $\pi/2$; and if $r \geq r_0$, then (4) tends to $\pi/2$. Hence it is sufficient to prove that $\sigma_n^r(\pi/n, g) + \sigma_n^r(k\pi/n, g)$ tends to zero as $n \rightarrow \infty$, for any r , $0 < r < 1$, and for any k .

Now

$$\sigma_n^r(x, g) = \frac{1}{\pi} \int_{-\pi}^{\pi} g(t+x) K_n^r(t) dt = \frac{1}{\pi} \int_{-\pi}^{\pi} g(t) K_n^r(t-x) dt,$$

where $K_n^r(t)$ is the n th Fejér kernel of order r . It is known that

$$|K_n^r(t)| \leq An \tag{5}$$

and

$$\begin{aligned} K_n^r(t) &= \frac{1}{A_n^r} \frac{\sin \{(n+1/2+r/2)t - \pi r/2\}}{(2 \sin t/2)^{r+1}} + \frac{r}{(n+1)(2 \sin t/2)^2} \\ &\quad - \frac{1}{A_n^r} \sum_{\nu=n+1}^{\infty} A_{\nu+1}^{r-2} \frac{\sin \{(n-\nu)t - \pi/2\}}{(2 \sin t/2)^2} \end{aligned}$$

where $A_n^r = \binom{r+n}{n}$ [4]. We write

$$\sigma_n^r(x, g) = \frac{1}{\pi} \left(\int_0^{\pi} + \int_{-\pi}^0 \right) g(t) K_n^r(t-x) dt = \frac{1}{\pi} (I + J).$$

We shall estimate I only, since J may be estimated quite similarly.

We set now

$$I = \int_0^{\pi/n} + \int_{\pi/n}^{\pi} = I_1 + I_2.$$

Then by (5) and (2) we get

$$|I_1| = \left| \int_0^{\pi/n} g(t+x) K_n^r(t) dt \right| \leq \left| [G(t) K_n^r(t)]_{t=0}^{t=\pi/n} \right| + \left| \int_0^{\pi/n} (K_n^r(t))' G(t) dt \right| = o(1),$$

where $G(t) = \int_0^t g(u+x) du$. Further

$$\begin{aligned} I_2 &= \int_{\pi/n}^{\pi} g(t+x) K_n^r(t) dt = \int_{\pi/n}^{\pi} g(t+x) \frac{\sin \{(n+1/2+r/2)t - \pi r/2\}}{A_n^r (2 \sin t/2)^{r+1}} dt \\ &+ \int_{\pi/n}^{\pi} g(t+x) \frac{r}{(n+1)(2 \sin t/2)^2} dt + \int_{\pi/n}^{\pi} g(t+x) \frac{1}{A_n^r} \sum_{\nu=n+1}^{\infty} A_{\nu+1}^r \frac{\cos(n-\nu)t}{(2 \sin t/2)^2} dt \\ &= I_3 + I_4 + I_5, \text{ say,} \end{aligned}$$

and

$$I_3 = \int_{\pi/n}^{\pi} g(t+x) \frac{\cos \{(n+(1+\nu)/2)t - (1+r)\pi/2\}}{A_n^r t^{1+r}} dt + I_7 = I_6 + I_7.$$

By the Riemann-Lebesgue theorem we easily see $I_7 = o(1)$, and

$$\begin{aligned} I_6 &= \frac{1}{A_n^r} \int_{\pi/n}^{\pi} g(t+x) \cos \{(1+r)(t-\pi)/2\} \frac{\cos nt}{t^{1+r}} dt \\ &- \frac{1}{A_n^r} \int_{\pi/n}^{\pi} g(t+x) \sin \{(1+r)(t-\pi)/2\} \frac{\sin nt}{t^{1+r}} dt = I_8 - I_9, \text{ say.} \end{aligned}$$

We have

$$I_9 = \frac{1}{A_n^r} \int_{\pi/n}^{\pi} \chi(t) \frac{\sin nt}{t^{1+r}} dt = \frac{1}{A_n^r} \int_{\pi/n}^{2\pi/n} \left\{ \sum_{k=0}^{n-2} (-1)^k \frac{\chi(t+k\pi/n)}{(t+k\pi/n)^{1+r}} \right\} \sin nt dt$$

where

$$\chi(t) = g(t+x) \sin \{(1+r)(t-\pi)/2\}.$$

By the second mean value theorem

$$|I_9| \leq C \sum_{k=0}^{[(n-2)/2]} \frac{n}{k^{1+r}} \left| \int_{\pi/n}^{2\pi/n} \{g(x+t+2k\pi/n) - g(x+t-(2k-1)\pi/n)\} dt \right| + o(1)$$

which is $o(1)$ by (2). Similarly $I_8 = o(1)$, and hence $I_3 = o(1)$.

On the other hand

$$\begin{aligned} I_4 &= \int_{\pi/n}^{\pi} g(t+x) \frac{r}{(n+1)(2 \sin t/2)^2} dt = \frac{A}{n+1} \int_{\pi/n}^{\pi} \frac{g(t+x)}{t^2} dt + o(1) \\ &= \frac{A}{n+1} \left[\frac{G(t)}{t^2} \right]_{t=\pi/n}^{t=\pi} + \frac{A}{n+1} \int_{\pi/n}^{\pi} \frac{G(t)}{t^3} dt \end{aligned}$$

$$= \frac{A}{n+1} \left\{ \frac{G(\pi)}{\pi^2} - \left(\frac{n}{\pi} \right)^2 o\left(\frac{\pi}{n} \right) \right\} + \frac{A}{n+1} o\left(\int_{\pi/n}^{\pi} \frac{dt}{t^2} \right) = o(1).$$

And further

$$\begin{aligned} I_5 &= \int_{\pi/n}^{\pi} g(t+x) \frac{1}{A_n^r} \sum_{\nu=n+1}^{\infty} A_{\nu+1}^{r-2} \frac{\cos(n-\nu)t}{(2 \sin t/2)^2} dt \\ &= \frac{1}{A_n^r} \sum_{\nu=n+1}^{2n} A_{\nu+1}^{r-2} \int_{\pi/n}^{\pi} + \frac{1}{A_n^r} \sum_{\nu=2n+1}^{\infty} \int_{\pi/n}^{\pi} = I_{10} + I_{11}, \text{ say.} \end{aligned}$$

Then

$$\begin{aligned} I_{10} &= \frac{1}{A_n^r} \sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{(2 \sin t/2)^2} dt \\ &= \frac{1}{A_n^r} \int_{\pi/n}^{\pi} g(t+x) \frac{\sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \cos \lambda t}{(2 \sin t/2)^2} dt = \frac{1}{A_n^r} \left[G(t) \frac{\sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \cos \lambda t}{(2 \sin t/2)^2} \right]_{t=\pi/n}^{t-\pi} \\ &\quad - \frac{1}{A_n^r} \int_{\pi/n}^{\pi} G(t) \left(\frac{\sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \cos \lambda t}{(2 \sin t/2)^2} \right)' dt \end{aligned}$$

where

$$\begin{aligned} &\left(\frac{\sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \cos \lambda t}{(2 \sin t/2)^2} \right)' \\ &= \frac{-(2 \sin t/2)^2 \sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \lambda \sin \lambda t - 4 \sin t/2 \cos t/2 \sum_{\lambda=1}^n A_{\lambda+n+1}^{r-2} \cos \lambda t}{(2 \sin t/2)^4} \end{aligned}$$

Since $\lambda A_{n+\lambda+1}^{r-2}$ ($\lambda=1, 2, \dots, n$) is monotone increasing, we have

$$\left| \sum_{\lambda=1}^n A_{n+\lambda+1}^{r-2} \lambda \sin \lambda t \right| \leq \frac{A_{2n+1}^{r-2} n}{|\sin t/2|}$$

Also

$$\left| \sum_{\lambda=1}^n A_{n+\lambda+1}^{r-2} \cos \lambda t \right| \leq \frac{A_{n+2}^{r-2}}{|\sin t/2|}$$

Hence

$$\begin{aligned} |I_{10}| &\leq \left| \frac{1}{A_n^r} \left\{ G(\pi) \frac{\sum_{\lambda=1}^n A_{n+\lambda+1}^{r-2} (-1)^\lambda}{4} - G(\pi/n) \frac{\sum_{\lambda=1}^n A_{n+\lambda+1}^{r-2} \cos \lambda \pi/n}{(2 \sin \pi/2n)^2} \right\} \right| \\ &\quad + \int_{\pi/n}^{\pi} |G(t)| \left\{ \frac{n A_{2n+1}^{r-2}}{4 |\sin t/2|^3} + \frac{|\cos t/2| A_{n+2}^{r-2}}{4 |\sin t/2|^4} \right\} dt = o(1). \end{aligned}$$

And further

$$I_{11} = \frac{1}{A_n^r} \sum_{\lambda=n+1}^{\infty} A_{\lambda+n+1}^{r-2} \int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{(2 \sin t/2)^2} dt.$$

If we write

$$\int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{(2 \sin t/2)^2} dt = \int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{t^2} dt + J,$$

then from the Riemann-Lebesgue theorem $J=o(1)$ as $\lambda \rightarrow \infty$. Now

$$\begin{aligned}
& \int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{t^2} dt \\
&= \int_{\pi/n}^{\pi/n+\pi/\lambda} \sum_{k=0}^{l-1} g(x+t+k\pi/\lambda) \frac{(-1)^k \cos \lambda t}{(t+k\pi/\lambda)^2} dt + \int_{\pi/n+l\pi/\lambda}^{\pi} g(t+x) \frac{\cos \lambda t}{t^2} dt \\
&= \sum_{k=0}^{[(l-1)/2]} \int_{\pi/n}^{\pi/n+\pi/\lambda} \left\{ \frac{g(x+t+2k\pi/\lambda)}{(t+2k\pi/\lambda)^2} - \frac{g(x+t+(2k+1)\pi/\lambda)}{(t+(2k+1)\pi/\lambda)^2} \right\} \cos \lambda t dt + o(1).
\end{aligned}$$

In view of the second mean value theorem and (2), we get

$$\begin{aligned}
\int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{t^2} dt &= \sum_{k=0}^l \frac{o(1/\lambda)}{(\pi/n+k\pi/\lambda)^2} + o(1) \\
&= o(1/\lambda) \sum_{k=[\lambda/n]}^{l+[\lambda/n]} \frac{1}{(k\pi/\lambda)^2} + o(1) = o(1/\lambda) \cdot \lambda^2 \sum_{k=[\lambda/n]}^{\infty} \frac{1}{k^2} + o(1) \\
&= o(n) + o(1).
\end{aligned}$$

Hence

$$\begin{aligned}
|I_{11}| &\leq \frac{1}{A_n^r} \sum_{\lambda=n+1}^{\infty} |A_{\lambda+n+1}^{r-2}| \left| \int_{\pi/n}^{\pi} g(t+x) \frac{\cos \lambda t}{(2 \sin t/2)^2} dt \right| \\
&\leq \frac{1}{n^\lambda} \sum_{\lambda=n+1}^{\infty} \frac{1}{(\lambda+n+1)^{2-r}} o(n) = \frac{1}{n^\lambda} \frac{1}{n^{1-\lambda}} o(n) = o(1).
\end{aligned}$$

Thus the theorem is proved.

Finally I wish to express my hearty thanks to Professor S. Izumi for his kind advices.

References

- [1] H. Cramér: Etudes sur la sommation des séries de Fourier, A. F. M., **13**, no. 20, 1-21 (1919).
- [2] S. Izumi and M. Satô: Fourier series X: Rogosinski's lemma, Kôdai Math. Rep., **8** (1956).
- [3] K. Ishiguro: Fourier series XI: Gibbs' phenomenon, Kôdai Math. Rep., **8** (1956).
- [4] A. Zygmund: Trigonometrical series, Warszawa (1935).